Constructing Small - and Medium -
Sized Enterprise Networks
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10. The command to configure the switch SWA to work in RSTP working mode is

A. [SWA-Ethernet1/0/4] stp mode rstp

B. [SWA]stp mode rstp

C. [SWA] undo stp mode stp

D. [SWA-Ethernet1/0/4] undo stp mode stp

Answer(s): B

11. After executing the display command on the switch SWA, the switch output is as follows:
From the above output, you can judge . (Multiple choice)

A. The host with MAC address 001c-233d-5695 is connected to port GEO/1

B. The above entries are dynamically generated by the switch

C. The above entries are statically configured by the administrator

D. The host with IP address 172.16.0.1 is connected to port GE0/O

Answer(s): B,D




12. The network environment is shown in the figure. Do the following NAT configuration on router
RTA:

A. Protocol GlobalAddr Port InsideAddr Port DestAddr Port-200.76.28.11 --- 100.0.0.2 --- --- --- VPN: 0,
status: NOPAT, TTL: 00:04:00, Left: 00: 04:00-200.76.28.12 --- 100.0.0.1 --- --- --- VPN: 0, status:
NOPAT, TTL: 00:04:00, Left: 00:03:59 1 200.76.28.12 1024 100.0.0.1 1024 200.76.29.4 1024 VPN: 0,
status: NOPAT, TTL: 00:01:00, Left: 00:00:59 1 200.76.28.11 512 100.0.0.2 512 200.76.29.4 512 VPN: 0,
status: NOPAT, TTL: 00:01:00, Left: 00:01:00

B. Protocol GlobalAddr Port InsideAddr Port DestAddr Port-200.76.28.11 --- 100.0.0.2 --- --- --- VPN: 0,
status: NOPAT, TTL: 00:04:00, Left: 00: 04:00-200.76.28.12 --- 100.0.0.1 --- --- --- VPN: 0, status:
NOPAT, TTL: 00:04:00, Left: 00:03:59 1 200.76.28.12 1024 100.0.0.1 1024 200.76.29.4 1024 VPN: 0,
status: NOPAT, TTL: 00:01:00, Left: 00:00:59 1 200.76.28.11 511 100.0.0.2 512 200.76.29.4 512 VPN: 0,
status: NOPAT, TTL: 00:01:00, Left: 00:01:00

C. Protocol GlobalAddr Port InsideAddr Port DestAddr Port-200.76.28.11 --- 100.0.0.2 --- --- --- VPN: 0,
status: NOPAT, TTL: 00:04:00, Left: 00: 04:00-200.76.28.12 --- 100.0.0.1 --- --- --- VPN: 0, status:
NOPAT, TTL: 00:04:00, Left: 00:03:59 1 200.76.28.21 1024 100.0.0.1 1024 200.76.29.4 1024 VPN: 0,
status: NOPAT, TTL: 00:01:00, Left: 00:00:59 1 200.76.28.11 512 100.0.0.2 512 200.76.29.4 512 VPN: 0,
status: NOPAT, TTL: 00:01:00, Left: 00:01:00

D. Protocol GlobalAddr Port InsideAddr Port DestAddr Port-200.76.28.11 --- 100.0.0.2 --- --- --- VPN: 0,
status: NOPAT, TTL: 00:04:00, Left: 00: 04:00-200.76.28.12 --- 100.0.0.1 --- --- --- VPN: 0, status:
NOPAT, TTL: 00:04:00, Left: 00:03:59 1 200.76.28.12 1023 100.0.0.1 1024 200.76.29.4 1024 VPN: 0,
status: NOPAT, TTL: 00:01:00, Left: 00:00:59 1 200.76.28.11 511 100.0.0.2 511 200.76.29.4 512 VPN: 0,
status: NOPAT, TTL: 00:01:00, Left: 00:01:00

Answer(s): A

13. The two MSR routers are connected as shown in the figure.

A. acl number 3000 rule 0 deny ospf rule 5 permit ip

B. acl number 3000 rule 0 deny udp destination-port eq 89 rule 5 permit ip

C. acl number 3000 rule 0 deny ip destination 224.0.0.5 0 eq 89 rule 5 permit ip

D. acl number 3000 rule 0 deny ip destination 224.0.0.5 O rule 5 permit ip

Answer(s): A,D
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18. Configure the unconfigured MSR router from the factory through the console port, and the
baud rate of the terminal's serial port should be set to

A. 2400
B. 9600
C. 38400

D. 115200

Answer(s): B

19. If you need to configure the IP address of the Ethernet port on the MSR, you should configure
it under

A. User view
B. routing protocol view

C. System view



D. Interface view

Answer(s): D

20. There is a default route in the router's routing table, its destination network segment and
mask are both 0.0.0.0, and its next hop is the router's S0/0 interface, then the following
description of this route is correct. . (Multiple choice)

A. The metric value of this route may be 3

B. The route has the shortest mask, so the data packet will be forwarded according to the default route
only if there is no other route matching the data packet

C. The priority of this route may be 100

D. When the router receives a data packet to the destination address 120.1.1.1, if there is no other exact
match in the router table, then the data packet will match this default route

Answer(s): A,B,C,D




